ARNEHAFIR T

JOTA BEARING CO., LTD.

BEARINGS




A\ 2 X B & BE w5
</ JOTA BEARING CO., LTD.

= Ol ~ i A

Spherical Plain Bearings



0T

@é ARXEARFR DT

[=
S

<EDR

et JOTA BEARING CO., LTD.
a6 | -
PHS {Z%1 D ~ B
e B
r [}
+ | d +——7 d
[ R 1
L
L <4
‘1 -Q—Dz—b T
| ‘ | L2
) ¢
tLs <1 ] ’
J S |
~—D
? Woe
FE&~F&(mm) 5
sk ’ wus WO g
B | g Jlsszﬁ D|BiBS o [ L|Ls | Li|Le WS Do|Ds| r| @h || o
11.112
PHS5 | 5| M5X08 |16 6 8| 77| 35| 4 27 | 14 919 1 | 05 7H6) 570| 165
12.7
PHS 6 | 6| M6X1 18| 675 | 9| 9 395 30| 14| 11|10 13 | 05 ) 70| 25
15.875
PHS8 | 8| M8X1.25 22| 9 121104 | 47 | 5 36 | 17| 14 | 125| 16 | 05 (58) 1000| 43
19.05
PHS 10{ 10 | M10X15 [26| 105 |14 [ 129 | 56 | 65| 43 | 21 | 17 | 15 19 | 05 (314) 1350 72
22225
PHS 12|12 | m12x175|30| 12 |16 | 154 | 65|65 50 | 24 | 19 | 175| 22 | 05 7/8) 1700 | 107
254
PHS 14|14 | M14x2 |[34| 135 | 19| 169 | 74| 8 57| 27| 22 | 20 25 | 05 ) 2100 160
28,575
PHS 16|16 | M16X2 (38| 15 |21 | 194 | 83| 8 64 | 33| 22 | 2 27 | 05 (1%) 2550 | 210
3175
PHS 18/ 18 | M18x15 |42| 165 |23 (219 | 92|10 | 71 | 38| 27 | 25 31 | 05 (1) 3000 295
34925
PHS 20|20 | M20X15 |46| 18 |25 | 244 (100 |10 | 77 | 40| 30 | 275| 34 | 05 (1) 3500| 380
38.1
PHS 22122 | M22x15 |50 20 |28 [ 258 (109 | 12 | 84 | 43| 32 | 30 37 | 05 (k) 4200 | 490
42.862

PHS 2525 | M24x2 [60| 22 |31 |296 (124 |12 | 94 | 48| 36 | 335| 42 | 05 (111/16) 7400 | 750

50.8
PHS 30/30| M30x2 |70| 25 |37 | 348 [145|15 [ 110 | 56 | 41 | 40 50 | 05 @ 9400 | 1130




?\Kﬁdv}'ﬂ?'“ D)

httmps //|skbear|ng com‘:";'

TEL +886 3-31255:0202

E-mail : iskbearing@jota:bearing-comstw,
Address : NO.65,Ln.1434, ChunRifRDS,
33051 Taoyuan, Taiwan, R.O:C




	�¶�±  127
	�¶�±  128
	�¶�±  129
	�¶�±  130
	�¶�±  131
	�¶�±  132
	�¶�±  133
	�¶�±  134
	�¶�±  135
	空白頁面
	空白頁面
	空白頁面

